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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 1.10|M/kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M e 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 0.00]F/kWh
A BTADIVT7ITSARAFEHE-(1-18KFR) x HER 11.19 MADIV7ZISAREYIE 9.37
B: EJTIAEREEEM (Fiik) 8.50 BxE 7.9%
C: BMHEEAEE M (Fik) 12.50 SRR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 6.91|M/kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M Y 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 5.81|M/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.28 MADIV7ZISAREYIE 11.05
B: EJTIAEREEEM (Fiik) 400 BEkE 8.5%
C: BMHEEAEE M (Fik) 8.00 SRR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk




HREBENTUTHEE]
SUTNTSODEESE
2025% T7HA% BEEFREE@OSMSE

TRIZEOHRERY. EHALBLEFET,
B OBESHRICEFNIMBASHERME, TROBYSMSELET.
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 6.94 | /kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M Y 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 5.84|MH/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 15.31 MADIV7ZISAREYIE 12.96
B: EJTIAEREEEM (Fiik) 6.00 BxE 6.9%
C: BMHEEAEE M (Fik) 10.00 SRR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk
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FIrcImiz

BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 5.58 | /kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M Y 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 4.48|F/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 13.07 MADIV7ZISAREYIE 11.04
B: EJTIAEREEEM (Fiik) 5.00 BEkE 7.1%
C: BMHEEAEE M (Fik) 9.00 SRR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 7.42|M/kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M Y 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M Y 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HNENFAEREM=A<BDEE. HEHFAREM=(A—B)XxDx(1+H&FZHK) 0.00]F/kWh
A>CODIGE . ENRABEM=(A—C)xDx(1+HEMRZEK) 6.32| = /kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 12.74 MADIV7ZISAREYIE 10.68
B: EJTIAEREEEM (Fiik) 3.00 BEkE 7.8%
C: BMHEEAEE M (Fik) 7.00 AR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk
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DBEYEBHSELET
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+AORENHERIELE= B 1D 15kWhET A 103.05 A
LS A 6.87 F/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = BHYD15kWhET 0.00|M
202552 H ~20255F4 A FHD B S FHmE Lot 0.00]F/kWh
A: 1KkIBHT=Y DR R 75,324 { o: 0.0000
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000 ~15kWhEL#E B iy 0.000 [
C: tHI-YDTEHRRME 19,887 M Y- 0.0000 16kWh ~ EL £ B {fff 0.000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 5.77|M/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 12.74 MADIN7ZISAREYIE 10.68
B: EJTIAEREEEM (Fiik) 3.50 BEkE 7.8%
C: BMFHEEAEEM (Fik) 7.50 SRR 110%
D: #EEE 100%
4) REHEAIREE 1.10|MH/kWh

Uk
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DBEYEBHSELET

BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+AORENHERIELE= B 1D 15kWhET A 86.10 A
LS A 5.74 F/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = BHYD15kWhET 0.00|M
202552 H ~20255F4 A FHD B S FHmE Lot 0.00]F/kWh
A: 1KkIBHT=Y DR R 75,324 { a 0.0000
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000 ~15kWhEL#E B iy 0.000 [
C: tHI-YDTEHRRME 19,887 M Y- 0.0000 16kWh ~ EL £ B {fff 0.000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 4.64]F/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 11.21 MADIN7ZISAREYIE 9.41
B: EJTIAEREEEM (Fiik) 3.00 BEkE 7.7%
C: BMFHEEAEEM (Fik) 7.00 SRR 110%
D: #EEE 100%
4) REHEAIREE 1.10|MH/kWh

Uk
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BUADBIHEICEFTNOIRMEFHBEME. TELOD

anj
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DBEYEBHSELET
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+OBRENHEHIBEE= BAID15kWhET A 48.51 [
LS A 4.41 F/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = BYD1TKWhET 0.00|M
202552 H ~20255F4 A FHD B S FHmE Lot 0.00]F/kWh
A: 1KkIBHT=Y DR R 75,324 { o: 0.0000
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000 ~11kWhE 2B 0.000 [
C: tHI-YDTEHRRME 19,887 M Y- 0.0000 12kWh ~ EL £ B {fff 0.000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 91,452 { 0.0000
C: 1tHI-YDTEHRRME 19,887 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 3.31|MH/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 11.01 MADIN7ZISAREYIE 9.20
B: EJTIAEREEEM (Fiik) 400 BEkE 8.1%
C: BMFHEEAEEM (Fik) 8.00 SRR 110%
D: #EEE 100%
4) REHEAIREE 1.10|MH/kWh

Uk
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BT LRNT—

BHBERBHEM=RHNEREEME QMBI =/\—Y )L Y —E XA E{E +(3)HE H IR EEH

+ABFENHEHIEEE = FiA 4.70|/kWh
(1) AR SR 2 B i = (R PARHMliAE —O0F) x E#EE{fi—1,000 = 0.00]FH/kWh
202552 H ~20255 4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh=YDTEHLNGIEE 91,452 { B: 0.0000
C: tHI-YDTEHRRME 19,887 M e 0.0000
EXREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-/N—Y LY —ERFEE = (B S F RIS —0M) x BXE {1,000 = 0.00]F/kWh
202552 H ~20255F4 A FHD B S FHmE
A: 1KkIBH =Y DR R 75,324 { a 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 91,452 { 0.0000
C: 1tHI-YDTEHRRXRME 19,887 M e 0.0000
BHELHBREMB=AXxa +BXxB8 +VXxr=0H (100 RBEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XxDx(1+HE&EHRE) = 0.00]F/kWh
A>CODIHE . IEHFAREME=(A—C)XDXx(1+HEHRE) = 3.60|MH/kWh
A: BTADIVTISARFEHE-(1-18K3H) x TR 11.28 MADIV7ZISAREYIE 9.37
B: EJTIAEREEEM (Fiik) 4.00 BxE 8.6%
C: BMHEEAEE M (Fik) 8.00 SRR 110%
D: #EEE 100%
4) REHEHAIREE 1.10|MH/kWh

Uk




